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A 1 [ = SRERANE U H R
CESEEI 0.324 m3 = 0.324
A 1B = WA UE R
GEAD 1.101 m3 = 1. 101
A 2 M = EHEIEE R
GEAD 2.559 m3 = 2.559
A 1B = HERIRY U8 R
(eI Y ) 0.162 m3 = 0.162

LB T A KGE SR




T I % BE & E & (f & ® )

RETEEEES . 15000100 [ L #)E%EHE]
TEEE | 02 | THEEWm [HKkEIz [L—+&S [ 02 [ J—F&# [E#hPACo (I LIFER)
e E G A /B H =
Al 1 [HE = (ETHEE + £BVIEE + BEEE + WEEE) + (GETIRENE - @A) X MFREITE)) X ek
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
AL TR A 1 [EE = e X BEAa X (ETHEE + AERE + RIEE + MEER)
0.300 m3 = 1.000 * 0.100 * (3.000 + 0.000 + 0.000 + 0.000)
PEH| 1 | BE = BAE X BA X (LTIEE + KIEE + RIEE + MEIER)

2.700 m3 = 1.000 * 0.900 * (3.000 + 0.000 + 0.000 + 0.000)

S IH

B = HAE X EA X (ETHER + Atk + fUER + MEIER)

0.300 m3 = 1.000 * 0.100 * (3.000 + 0.000 + 0.000 + 0.000)

AR 1 [ = BANE X (ETHER + RIBER + SRR + EER)
3.000 m2 = 1.000 * (3.000 + 0.000 + 0.000 + 0.000)
THBED R L 1B = AR X BA X (ETHEE + REER + BURIER + WEIER)
2.250 m3 = 1.000 * 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
A 1 |EE = SERyE 8 L8
CESEE) 0.300 m3 = 0.300
A 1B = WA UE R
GEAD 2.700 m3 = 2.700

LB T A KGE SR



T I % B &t # & (

itE xR

RETEEEES . 15000100 [ L #)E%EHE]
TEEE | 02 | THEEWm [HKkEIz [L-+rEE [ 03 | J—F%&%# |E#hHCo (#EkER)
e E G A /B H =
Al 1 [HE = (ETHEE + £BVIEE + BEEE + WEEE) + (GETIRENE - @A) X MFREITE)) X ek
50.000 m = ((25.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL TR A 1 [EE = e X BEAa X (ETHEE + AERE + RIEE + MEER)
1.500 m3 = 0.600 * 0.100 * (25.000 + 0.000 + 0.000 + 0.000)
PEH| 1 | BE = BAE X BA X (LTIEE + KIEE + RIEE + MEIER)

6.000 m3 = 0.600 * 0.400 * (25.000 + 0.000 + 0.000 + 0.000)

S IH

B = HAE X EA X (ETHER + Atk + fUER + MEIER)

1.500 m3 = 0.600 * 0.100 * (25.000 + 0.000 + 0.000 + 0.000)

AR 1 [ = BANE X (ETHER + RIBER + SRR + EER)
15. 000 m2 = 0.600 * (25.000 + 0.000 + 0.000 + 0.000)
THBED R L 1B = AR X BA X (ETHEE + REER + BURIER + WEIER)
3.750 m3 = 0.600 * 0.250 * (25.000 + 0.000 + 0.000 + 0.000)
A 1 |EE = SERyE 8 L8
CESEE) 1. 500 m3 = 1.500
A 1B = WA UE R
GEAD 6.000 m3 = 6.000

LB T A KGE SR



o

T % 82 &t B &8 (fF &8 %)

BEEEIERES . 15000100
[ TEEE | 02 | THEEWm [HKkEIz [L-+rEE [ 04 | J—tr&% |[EthmiszmA+ (31 EIFER)
JE R EH A -
$i 41 1 [%E = llE X B4 X (ETHE + [MEE + )MIEE + WFBEILE)
0.375 m3 = 1.000 * 0.250 * (1.500 + 0.000 + 0.000 + 0.000)
Hi 1) 2 |EdE = WEE X B X (ETHEE + /RIEE + REE + WFIEE)
1.125 m3 = 1.000 * 0.750 * (1.500 + 0.000 + 0.000 + 0.000)
S B L 1[5 = #ElE X B4 X (ETHEE + RMEE + sMIEE + WFLEE)
0.375 m3 = 1.000 * 0.250 * (1.500 + 0.000 + 0.000 + 0.000)
SRS B L 2 |EdE = WEE X B X (LTHEE + {/IBEE + REE + WEEE)
1.125 m3 = 1.000 * 0.750 * (1.500 + 0.000 + 0.000 + 0.000)
] 2 i = mEgoE LR
(BEH) 1.125 m3 = 1. 125

BT AT A KGE SR



